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State and explain Kirchoff s lawffi -ffh-' +**im (06 Marks)la.
b.
c.

2a.

b.

Derive an expression for the ergf,ffiSblsd in a magnetic q$Jd\, (06 Marks)
Two coupled coils of self idr&i$&lhces 0.8H and 0.2H, havs'a co-effrcient of coupling 0.9.
Find the mutual inductance .And turns ratio. ,*,,. ;' (08 Marks)

-*.&u,l ,*l*ulry*#"
State and explain ' 

q:5
i) Fleming's left hpn&Liile ii)Faraday's second law of electro-magnetic induction. (06 Marks)
The total po*".nt$ofuumed by the network,.shown in Fig.2(b) is l6W. Find the value of 'R'
and total curreritl+=' , ..."11:,,,,,'" (06 Marks)
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,jr. +'!' Module-2
3a.Drawthecrosssectiq3E1,.,.ewofunffi.hi,.withparts,mentionthefunctionsof

following : i) Yoke ii).qeld winding iii) Pole shoe iv) Commutator. (06 Marks)
b. Explain with a neat diagfranl the constructional features and operation of an induction type

single phase energy meter. (08 Marks)
c. A 4 pole, l00, pp*shunt generator with lap connected armature, having field and armature

resistance of"58,0 and 0.1O respectively, supplies sixty, 100V, 40W lamps. Calculate the
total arq4tur€ current, current pgr path and generated emf. Allow a contact drop of I volt per

if i) switch'S' is opened

tow

(08 Marks)
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4a.
b.
c.

Derive an EMF equation of DC generator'

tAB.LElsl25
(06 Marks)

wattmeter. (06 Marks)
Explain with a neat diagram working p:i"tip]: 

:1.11.t1.11 aimature. The resistance of
e ZOOV, lap wound, DC shunt motor has 800

is 200fi. The motor takes a

urd gtort torque develoPed in the
(08 Marks)

the armature winding is 0.5O and that of shunt

"rrnent 
of 21A, the flux per pole is 30mwb' Find t

motor.

5 a. What is meant by power factor in an AC ffirt is its signifi:ance in Ac'i[]'iil.u,,
l.

uoltag" 'v' for pr.. irr&i$Ltu'"e AC circuit'
,iil (04 Marks)

c.

d.

b. Show that current 'i' lags 90o to the

n, 
ol,

Explain 2-waycontrol and 3-way cp$trbl of lamp y"l *n:E{gi:{::'j,1':Tffi.,t:i y:13
l ffiHI: ,#;;;l;.iffi&$hB"' a poteniial a1.r v-F i29'*(111 1,?::P "f::*A gtlll(,ur r - Du\Jr! ' rv ,, tr:T---- r . ^ *:,*.,,jseries 

cornbination. Assume
Find the values of cirarftnfi parameters, assufiung - 

a"

w:3lrad/sec. .-;.ltr 
' 

",,"."'"" 
(06Marks)

w: Jtrao/sec' 
j',.u,.. i' '' r'i'::g';,,t1\'''}r.-

Deduce a condition 
"&*ffiU;L 

an RLC circuit beha[SS*ike a resistive circuit'
tI'Jtft6a.

b.

(06 Marks)

(06 Marks)

,q{v , o*. Module-4 - , i
-,q7 a. Expldrinthe advantages of rotating n"ia typ" I pUut" alteinator' (06 Marks)

b. Two wattmeters are connected-'"'tb measure poget'jp'Put 
,to ^u 

3 *:j,"-l?lT*^:||:il

Write a short notqPp,# r

i) Need of earthidJ iry-eu.tt leakage circuit brgaker' ,i , (08 N{arks)

Til;il;m&;'": 8 + j6o and zqr5..l"!-t:oa,.are connected in parallel across 230Y '

iriiil, ia-*ttpdv.'Calculate , 1 tit " ""*.qi 
iq uianctt currents' (06 Marks)

;";i,ffi rJ.-"1",ffi;h{; "r,s"d 
}1" "l-g"r, --o-g*:,rri": 

the .line 
emf' Ir the

arterrator is star otmr$ila.-a..""r. *_igfrrlactor kd: 0u.ffiit"t factor, kp : 1.(08 Marks)

6e,t& {"- t" I
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8 a. Explain the t8ffi *ith reference 1of ghirse.AC-system : ;r

l nut*g.a srdly ii) Balaffil&& p 
"rni.sr...,fulM Sta*-stranection v) dete,.fu1#lection vi) 3 q-trAi.:9r a Iils;A[ffi;,:# Jl a"rtru.S.ffiection vi) 3 44itu 4 wire system. (06 Marks)

b. Explaiathe constructio, of .uti*t pole type rotoiwith neat diagram' (06l\{arks)

;: il#,H; "i ,o*" *I* cu*""i"d ,y.t"m the line voltage is '6times the phase voltage

*-l -"iirUf".it"ul, diagpm and vector diafoams' (08 Marks)

-;q#= '**' " !#Fi"
d-*s: Y -' *. $ ., Module-S

1r' 
-rlr3^ --r-^.,-r- ^r.'t*ir-ofnrrrrer (06 Marks)

dhr. Module-4

after rever$ing the current coil
,:,""t.- a,- /^z rr---t-^\

connection. Fi"ilt r.g'q&ra ii) Active p94*l . ( ' (06 Marks)

c. A 6 pole, 3 phase, 5s1tu':qlfernat* hi;-|'!i9#'r$-ai.n"ri""11:S1t':* T:-"::t i;';i

w'3*.li

g a. Explain the ffirffiprinciple of *d-asformer'
b. Ifa6po

of 2.3H2. Cffi*late : i) percenpge sttp 11) speeo or motu

c. Define th" ,oortiJ" ;'*d,ffi "mii"""y 
of transformer and obtain the condition for

*u*in"-efficiericy. **fi 
* (O8Marks)

.,
10 a. Explaintheworkipgpti#ipttof 3 phase inductionmo.tor, , . ,, r--r ^^--^-111Y:t::;. ffi;nn4,-rpfrfl6ov,"i"gr" phur" transformer, the iron and tulI load copper losses are

i;.W;;0'0ffffifuectively.-Caiculate the efficiency at unitypower factor on :
' "* o' 

'it t^^'l (06 Marks)
0 tuX load ii) half tullload.

c. ixplain $e {$orking of Y-A starter with neat diagram' (08 Marks)
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